Base Case- 0 Base Case - 0
250,000 0.20
- H
é‘ 200,000 ‘ %
Eom teeeeesees || d
2 5 lesecsesese
= o
o
% 100,000 g
3 50000 g
0 0.00
123 456 7 8 910 12 3 4 5 6 7 8 910
Generation Generation
Base Case - 0.012 Base Case - 0.012
250,000 0.20
- H
é‘ 200,000 ‘ %
Eom teeeeesees || 3
H 5 leeesseesee
- o
o
% 100,000 g
3 50000 g
0 0.00
123 456 7 8 910 12 3 4 5 6 7 8 910
Generation Generation
Base Case - base Base Case - base
250,000 0.20
] H
£ 200,000 ‘ =
4 @
Eiomel e beesebs || 3
g 5 leeeeeses e
S 100,000 §
k] e
£ o
3 50000 Eﬁ
0 0.00
12 3 45 6 7 8 910 12 3 4 5 6 7 8 910
Generation Generation
Base Case - 0.024 Base Case - 0.024
250,000 0.20
©
H 2
g 200,000 * §
2o tesesesees || 2
g a 000000000
S 100,000 H
2 £
5 50,000 s
&
0o +—TTTTTT"—7 0.00 —T—T—— — —
123 456 7 8 910 1 2 3 4 5 6 7 8 910
Generation Generation
Base Case - 0.048 Base Case - 0.048
250,000 0.20
© H
2 200,000 ‘ g
=4 «
Dot eeebebees || 2
5 @ G0 00000000
6 100,000 g
8 £
£ 50000 g
z g
a
0 +—TT—T—T—T—7T—7T—1 0.00 ——T—— — —
12 3 45 6 7 8 910 12 3 4 5 6 7 8 910
Generation Generation

Figure 6.14.1.3. Median number (panels on the left) and median proportion (panels on the right) of
smolts killed during emigration due to direct and indirect cumulative mortality associated with
dam passage across the 15 modeled hydroelectric dams in generations 1-10. Medians (circles)
and twenty-fifth to the seventy-fifth percentiles (lines) are shown for the proportion of adults that
die after unsuccessfully passing a dam equal to 0, 0.012, the base, 0.024, and 0.048 (top to bottom,
respectively) under the Base Case scenario.
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